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QUESTION 1

Which statements about HP Serviceguard heartbeats are true? (Select two)

A. Heartbeat packets are sent across all available LAN interfaces

B. Heartbeat packets are the primary mechanism used by cluster nodes to communicate status information.
C. Loss of even a single heartbeat message causes cluster reformation.

D. A minimum of two heartbeat LAN interfaces are recommended in a cluster.

E. Heartbeat packets are sent across dedicated heartbeat LAN interfaces

Correct Answer: BE

QUESTION 2

A customer is using PRM in Fair Share Scheduler mode to allocate CPU resources among several and applications.
Users are complaining about poor application performance, and you think PRM is capping the CPU utilization for their
application. You use Glance to examine the WAIT TVENTS for the applicationprocess.

What do you look for in Glance to confirm that PRM is capping the CPU utilization for the application?

A. The primary wait event is "System".

B. The primary wait event is "IPC"

C. The primary wait event is "Priority".

D. The primary wait event is "Scheduler"

Correct Answer: D

QUESTION 3

Which statement is true about an HP Serviceguard cluster during a rolling upgrade?
A. Hardware configuration can be modified.

B. HP Serviceguard commands can be issued from any cluster member.

C. Only two consecutive versions of HP Serviceguard can co-exist in a cluster

D. Binary configuration files must be compatible

Correct Answer: A

QUESTION 4
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Which components form part of the HP-UX OS kernel? (Select three.)
A. UFC

B. Power Module

C. EFI

D. Scheduler

E. Process Table

F. BCH

Correct Answer: ACF
QUESTION 5

Match the UNIX system commands with their toolbox description

Hot Area:
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file editing

source code management

process and user accounting

program development

text processing

Hot Area:
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file editing

source code management

process and user accounting

program development

text processing

Correct Answer:
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Which statements describe the functionality of Process Resource Manager (PRM)? (Select two.)

A. PRM allocates CPU, I/O. and Network resources.

B. PRM increases application uptime.

C. PRM allows resource allocation based on defined rules.

D. PRM migrates CPUs across vPars

E. PRM uses its own process scheduler

Correct Answer: BD

QUESTION 7

Which tools can be used to create a user account? (Select two.)

A. System Management Homepage (HP SMH)

B. addusr command

C. useradca command

D. setuid command

E. mxuser command

Correct Answer: AD

QUESTION 8

For each item, choose whether the characteristic is a feature of vPars v5 or vPars v6.

Hot Area:
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Implemented in firmware

vPars v6
vPars v5
vPars v5
vPars v6
vPars vb

Requires at least 1 CPU core dedicated to the vPar hypervisor

vPars v6
vPars v5
vPars v5
vPars v6
vPars v6

Supports shared and dedicated (un-virtualized) access to networking

adapters vPars vo
vPars v5
vPars v5
vPars v6
vPars vG

Can be converted between a vPar and a Virtual Machine with a single

command vPars v6

vPars v5
vPars v5
vPars v6
vPars v6

Administered via the Onboard Administrator

vPars vé
vPars v3
vPars v5
vPars v6
vPars v6

Hot Area:
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Implemented in firmware

vPars v6
vPars v5
vPars v5
vPars v6
vPars vb

Requires at least 1 CPU core dedicated to the vPar hypervisor

vPars v6
vPars v5
vPars v5
vPars v6
vPars v6

Supports shared and dedicated (un-virtualized) access to networking

adapters vPars vo
vPars v5
vPars v5
vPars v6
vPars vG

Can be converted between a vPar and a Virtual Machine with a single

command vPars v6 |

vPars v5
vPars v5
vPars v6
vPars v6

Administered via the Onboard Administrator

vPars vé
vPars v3
vPars v5
vPars v6
vPars v6

Correct Answer:

HPO-P25 PDF Dumps | HPO-P25 Practice Test | HPO-P25 Study Guide 9/13


https://www.certbus.com/hp0-p25.html
https://www.certbus.com/hp0-p25.html
https://www.certbus.com/hp0-p25.html

www.CertBus.com p https://www.certbus.com/hp0-p25.html
CE RT 2024 Latest certbus HPO-P25 PDF and VCE dumps Download

Implemented in firmware Y
vPars v6

vPars v5
vPars v5
vPars v6
vPars vb

Requires at least 1 CPU core dedicated to the vPar hypervisor
| vPars v6

vPars v5
vPars v5
vPars v6
vPars v6

Supports shared and dedicated (un-virtualized) access to networking ¥
adapters vPars v6
vPars v5
vPars v5
vPars v6
vPars v6

Can be converted between a vPar and a Virtual Machine with a single
command

vPars v6
vPars v5
vPars v5
vPars v6
vPars v6

Administered via the Onboard Administrator ki
vPars v6

vPars v3
vPars v5
vPars v6
|vPars v6

QUESTION 9
How do you boot a firmware-based vPar over the network on the HP Integrity Superdorne 2 server?

A. Use the vparboot command from the Virtualization Services Platform (VSP), and run the vparconsole command. Use
the CO command to getfor console. Then use the lanbootEFI command.

B. Use the vparconsole command to connect to the vPaiiLO, and use the PC command to power on the vPar Use the
Co command to get to the console use the lanbootEFI command.

C. Login to the Superdome 2QA, and use the vparboot command. Use the COcommand to connect to the console.
Then use the lanbootEFI console

D. Login to another vPar on the same nPar. Use the vparboot- command to lanboot the vPar.
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Correct Answer: D

QUESTION 10

Which statement about auditing Standard Mode Security Extensions (SMSE) is correct?

A. SMSE uses an external daemon to maintain the audit logs.

B. SMSE Audit log files can be read by the users of the SMSE-Administrator Group "smeadm".
C. SMSE auditing is available on HP-UX 11i v1, HP-UX 11i v2, and HP-UX it v3.

D. SMSE auditing is compatible with NIS and LDAP.

Correct Answer: C

QUESTION 11

You want to start the SMH GUI from a web browser. You have tried using the unsecured (2301) and secured (2381)
ports, but neither will launch the SMH GUI. Which command shows if SMH is configured to start at boot time?

A. smhconfig

B. hpsmh

C. smhstartconfig
D. smh

Correct Answer: C

QUESTION 12

When looking at the status of Integrity VM guests in SMH, you notice that the second guest, "atcvpar I, is running, but
no utilization data is displayed:
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What are the most likely causes and solutions for this problem? (Select two)

A. The CIM server is not running inside the VM guest log into the VM and start the CIM server

B. The VM guest does not have the required NPIV drivers installed. Install the NPIV drivers in the VM guest
C. The VM host does not have the required AVIO drivers installed. Install the AVIO drivers on the VM host
D. The VM guest does not have the required AVIO drivers installed. Install the AVIO drivers in the VM guest
E. The VM does not have the guest kit installed. Install the VM guest kit in the VM.

Correct Answer: BE

QUESTION 13

The application\\'s 1/O profile is doing random I/O. Which action must you perform to disable automatic read ahead on
the related filesystem?

A. Use the command newfs with the "read_ ahead=0" option on the filesystem

B. Mount the filesystem with the "readahead=random" option

C. Use the command vxtunefs to set the "read_ ahead=0" option on the filesystem.
D. Mount the filesystem with the "mincache=tempcache" option

Correct Answer: B

QUESTION 14

A customer wants to run a two node HP Service guard cluster on nodes "node 1" and "node 2". The HP Serviceguard
cluster nodes are Integrity VM VSPs. HP Service guard toolkit for Integrity Virtual Servers (SG-IVS) is installed on both
nodes VM guests "VMGuest 1" and VMGuest2" are configured as cluster packages"pkgl" and "pkg2".

During a maintenance window, the administrator needs to failover both cluster packages, "pkg 1" and "pkg 2", from
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"node 1"to "node 2".

Which statements are correct? (Select two.)

A. Use hpvmmigrate to failover "pkg 2".

B. "VMmGuest 1" and VMGuest 2" must be rebooted during the failover of "pkg 1" and "pkg 2".
C. HP Service guard does not monitor the VM guest during the online migration process.

D. Use cmmovevpkg to failover "pkg 1" and pkg 2".

E. Use hpvmsg_ move to failover "pkg 1" and "pkg 2".

Correct Answer: AD

QUESTION 15

What are the customer benefits of the HP-UX Operating Environments (e.g. VSE-OE, HA-OE. DC-OE), as compared lo
ordering the same software separately? (Select three)

A. Reduced purchasing cost for customer

B. Reduced amount of codewords required to manage software

C. Performance of HP applications tuned with the HP-UX OS

D. Reduced amount of disk space used for OS and HP applications
E. Reduced new-system sales quote and configuration complexity
F. reduced number of service contracts

Correct Answer:. ACF
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